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MATEMATHKA (C HHPOPMATHKA)

Haiigure narypaibHoe 4Heno m, eciii
dm'n—n—4m =56

A)2o B)y1r )2 D)4

[Mo nuany npeanpusaTHe T0JIAHO YBEIHYHTE

0DBEM MPOH3IBOCTRA 34 1Ba roJa B YeTRIPpS pasa.

Onpenennre, KAKAM J0/DKEH ObITh €XKErOHBII
NPHPOCT NMPOH3BOACTEA B NPOUCHTAX, CCIH OH
OIMHHAKOB JLTA K000 roja.

A) 100% B)60% C)80% D)30%

ApH{t}ME’TH‘-!ECK&H npﬂrpeccuﬂ GﬁﬂﬂﬂﬂET
Cﬂﬁ,rl}’EGIIIHM CBGHCTBOMZ Hp}{ .I'[[-ﬂﬁﬂ!'d n C}’MMH
ee NepBLIX 1 uleHoB pasHa 5n° . Haiinure
TPETHH YJIEH NPOTPECCHH.

A)Ys B)YIls )25 Dy3o

Brrurenute sin2x, eciad fgx yaoBleTBOpSeT

COOTHOWEHHIO fg°x—a-tgx+1=0 u nisecrno,

T
yro a >0 n ﬂ‘:“?

| 32
A)— B2 O Da
o a o

HaiinmTe 3nauenne koadpuimenta npu x’
_
P{x)=(1+2x—_r'] :

A)-6 B)s )8 D)-8

Haiiinre uneno pemenuii cucrem,
y=I1+log, x
x'=4°

Ayl By3 2 Dyn

Ha CHOJIBKO FI[H}IJ.EHT{‘.IB HIMEHHTCH ﬂ].']{‘.lﬁh,
CCIIH YHCIHTENL YBenHYuThL Ha 20%, a
IHAMEHATENR YMEHBIINTE Ha 10%7
A)33.(3)% B)33% C)23% D)20%

Haliaure ynenoBoe 3Ha4eHHE BRIPAKEHHA:
Vas\b-1 Na—Jb( Jb_ b
a+u'ra_h ZJH_FJ ﬂ—\llrﬂ'_.lij a+~Jah

rme a=4u b=3.

I 1
) - C )) —
Al B S O D)o

!
3

10.

11

12.

13.

14.

15.

HaiiTi, npu kakux b cHeTeMa ypaBHeHWH

a’x—by=a’ —b ;
. HMECT DCCKOHCYHOC
bx-b"y=2+4b
peLLenne.

A)VI;-1 By-1; -2 C)-2 D)-1

Haiinre cymmy kopHeil ypapHeHnus
x
m{4—.¥}+{|—|x|){l+|.T|)=3

A)os By Cy-05 D)LS

Haiigure V"E , €CIIH CUCTEMA YPABHEHHI HMeeT
DECKOHEHHOE YHCI0 PELEHHH.

Ix+2by=6

{x{a + 2}+ S5p=12

A5 B2 025 D)3

CKOMBKO OTPHIATEILHBIX HENTBIX YHCEN,
VIOBIETBOPAIOT CHCTEMY HepaBeHCTR?

¥ [.:vc+3}'li 50

(-1)(x-2)

AYd Bir4d Oy 1 D) oeckoneynoe

MHONCECG

Cronpko MPOCTRIX HHCENT YIOBINCTROPATOT

HEPAREHCTROT N24-2x-x <1
X

A)3 B)! OO0 D)beckoneunoe

MHONCECHIB

Haiiti uncno kopHeit ypasHeHns.
amcos(%] =2arctg(x-1)

A3 B)2 )1 D)o

Haiiti npou3soaHyo gyHKUHK

y:x-arc-::ns,r—(l—f)l_

. 2
A) arccosx B) arcsin x - ’ 1
(I—Jc:)2
. 2x .
C) arccos x+ [J) arcsin x



16.

17.

18.

19.

20.

21.

22.

HaiinuTe nepBoobpasHyio GyHKIIHH

f(x)zzx_slx

A) 10 +C B) 25 +C
In50 In50

C) 50 +C D) 23 +C
In50 In25

OcHoBaHue paBHOOEAPEHHOIO TPEYTrOJbHUKA
paBHo 8, a OokoBasi cTopoHa paBHa 12.
Haiiaure nnuny orpeska, COeIMHSIOLLETO
TOYKH MepeceueHnst OMCCEKTPHC YITIOB MPH
OCHOBAaHHM TPEYroJbHHKA.

A)48 B)5S C)6 D)54

2
Beraucinre (x,+1), ecin u3BeCTHO UTO X,

yﬂOB.ﬂeTBopﬂeT COOTHOLLIEHHIO
3_4x +3—l _9.\‘+2 :6'4x+l _0’5'9x+] )
A)1/4 B)94 C)1/8 D)27/8

Paguycel ABYX OKPYXKHOCTEH. UMEHOIIMX
BHYTpeHHee Kacanue, paBubl 10 u 2. U3
1eHTpa OOoJibIeH OKPYKHOCTH MpOBe/ieHa
KacarelbHas K MeHblued. Haiinure paccrosHue
OT LeHTpa OoblIeil OKPYKHOCTH 10 TOYKH
KacaHHsl.

A)5\2 B)2J15 )43 D)7

B nonycdepy pamuyca R BhucaHa
TpeyrojibHas NMUpaMHjia, OCHOBAaHHUEM KOTOPOM
CIIY’KMT PAaBHOCTOPOHHHH TPEYroJbHHUK.
Haiijiute o0bem nupamubl.

\/:)T £R3 QRB 2‘\/3 3
4 8

A) 2R B) D) =R

2 ©)

Haiity npoexuuto BekTopa 3d —b Ha BEKTOp
G+b,eciu a(2;,-23)u 5(1; —4;5).

59 60
A)05 B)06 C) —— D) ——
) ) ) )J@

V109

Jlns 3ananueIX MHOKECTB A ={4n+2| neN} u
B={3n| neN}, uaittn ANB.

A) {12n+6| neN}  B) {121+6| neZ}

C) @ D) {7Tn+2| neN}

23,

24,

25.

26.

27.

28.

Haiimnte MHOXKECTBO 3HAYeHUS (PYHKIHH.

Py

f(x)==

x +1

A [02)  B) [0; %]

1 1
C) {0, E} D) (5, oo]

Beluucnure onpeseneHHbil MHTErpa:

2 - 4

ISln3xdx

o 4

ir iz kY4 4
A)— B)— () — D) —
)16 )4 )8 )16

JINMHBI CTOPOH M AMAroHanel napasnienorpamma
PaBHBI COOTBETCTBEHHO a, b, m W n. Haiitn
MEHBLIMH yron napanienorpaMmma, eciii

a'+b* =m'n*.
A) 45° B)60° C)30° D) 75°

Boiizns B 3010Ty10, TAMHCTBEHHYIO TIELLEPY,
nupar kanutad XyK (OZAHOHOTHI), YBUIEN, KaK
CpakaroTcsi €ro OOMIBI U HECKOJIBKO TPEXTJIaBbIX
U IBYHOTUX JpaKoHOB. Ynclo Bcex rojioB B
nelepe cocTaBuio 26, mTyk, a Hor — 83.
Ckoubko Jitojeid kanurana Xyka Obu1o B
newepe? (OTBeT B 6-0 cUCTEME CUUCIIEHUS )
A0 B)i3 C)20 D)I5

Huske npuBe/ieHbl KOMMEHTapUU
IKBUBaJIEHTHbIE 00beMbl HH(popManmu. Haiiaure
00beM 0011el HHpOopMAaLUK TOJIBKO (QalbIIUBBIX
HOT, €CJIM KOJIMYeCTBO UH(OPMALIUH, HallIeHHOH
B 320 cexkyn, uHdopmalus nepeaaeTcs Mo ceTu
Onpenenuts MerabuT / cek CKOpPOCTb Nepeaadn
JIAHHbBIX.

«ITO CBUAETENILCTBYET O BELLAX WJIM COOBITHAX
xapaktepucTuk = 640 Mby;

«Trigger ycTpoiicTBO, NpeIHa3HAYEHHOE 1715
COXpaHEeHHUs JIaHHbIX B JIBOMUHON dopme = 720
Mby;

A)18 B)i6 C)34 D)0

Bbl HaxoauTe CyMMYy pUMCKUX 1IUGDD B
MOCIEI0BAaTENbHOCTH STU€EK, B KOTOPOI HamucaH
cnenytomuit HTML—kon?

<table style = "width: 100%"><tr><td><u> VII
</ u></td><td><i><b> [V <b><i></td><em> |
</ em></td><td><b><em> VI </ em><t><i> L
<i><ftd></tr><t> / b></td><td><b> V </



29.

30.

31.

32.

33.

34.

b></td></ table>
AYVI B)VII C)VII D)IX

Onpenesute BIpaKeHHue, pe3ybTaT KOTOPOro
paseH 1, eciiu A1 =000, A2=11,Bl =10u B2
=11, (Bce uncIa B ABOUYHOHN cHcTEeME
CUUCIIEHUS)

A) =ECJIH(Al > B2, A1*B2, Bl —A2)

B) = OCTAT(Al, B2 + Bl —42)

C) =CP3HAY(AI:B1,1)

D) = ECJ/IH(A1 < B2, ABS(A2*B2), A1 — A2)

OHpe,H,EJ]l/ITC KOJIMYECTBO MAaCCHBHBLIX
3JICMCHTOB, Hep@‘-ll/ICJ]CHHle B CJ]CJJ,YIOIJJ,E‘,FI
MoCJICNOBATCIILHOCTH .

K[ - 12,3], K[ - 12,4], K[ - 12,5], K[ - 11.,3]....,
K[ - 10,5],

A)9 B)4 C)6 D)8

OU3NKA

Yemy paBHO OTHOIIEHHE CPEJHUX CKOPOCTedi vy /vy
¢BODOIHO TIAJAIOIIET0 TeJIa B IEPBYIO U TeTBEPTYIO
CEKYHIBI?

A)1/7 B)1/4 C)1/3 D)1/5

Ha xocwmmtiecknit Kopabib, paBHOMEPHO
BpAILAIINICS 110 KPYTOBOil opOHUTe Ha BBICOTE
H = R or noeepxtoctu 3emiiu, AeHCTBYeT
rpasuTaimontas cuiia 100 kH. Kakosa
nenTpocTpemuTesbHas cua (KH), meiicrBytomas
Ha KOopabJik?

A)0 B)100 C)50 D)25

Mautbuuk 1moiHIMaeT Tejio Maccoit 0,5 Kr ¢
HOMOIIBIO PY2KUHBI kécTKocThio 200 H/M. B
3TOM JIBUZKEHWH abCOTIOTHOE V/ITHHEHUe TPYKITHBI
He 6osbiie 5 M. Cumras JIBHKEHHE
PABHOYCKOPEHHBIM, HARHTe MaKCHMAJIbHOE
paccrosiaue (¢M), Ha KOTOPOe HOJHUMETCsI TEJIO 3a
nadasbnbie 0,1 c.
A)10 B)0o,1 C)o5 D)5

Jsuraress momuoctbio H00 kBt Moxker npujiarh
Kopabutio ckopocTh 12 M/c. Kaxoit momkHa ObITH
morHocTh (KBT) aBuraress, 9Tobbl CKOPOCTD
Kopabuist gocruria 18 m/c¢? Cunrars, uro cuia
COIIPOTHUBJICHHUS BOAbI JIBUXKEHUIO CY/THaA
ITPOTTOPIMOHABHA CKOPOCTH.

A) 1125 B) 1250 C) 750 D) 880

35.

36.

37.

38.

39.

40.

41.

7Kenesnbrit mapuk maccoir 100 T cBobogHO TTaTaeT
€ BBICOTHI 2 M. Bpems MeKIy HepBBIM U BTOPBIM
yJapoMm mapuka ob noJi cocrasiser 1,2 ¢. Kakyio
MexaHnIecKyto suepruio (M/I) mapuk noreps
npu nepeom yaape 06 noa? Conporupienne
BO3/TyXa MOXKHO HE YUUTHIBATD.

A) 160 B) 180 C)200 D) 120

(-4acTUA ¢ HAYaJIbHON KUHETHYECKON 3Heprueil
E mznann npubmnkaercs u B3anMOIeficTBYeT ¢
N3HAYATBHO MOKOSIIMMCS TpoToHOM. Halinure
MUHUMAJIbHYI) KHHETUYECKYIO SHEPIrUl0 CUCTEMBL B
HPOLECCe ITOr0 B3aUMOJACHCTBHSL. T, = 411y,

A) 0,75E  B) 0.67E C) 0,8E D) 0,9E

[Ipyxunnbiii MagTHHK ¢ nepuojioM Kojiedanuit T
nMeeT (eppOMArHUTHEIN Ipy3. YCTaHOBUB IO
MagTHUKOM ITOCTOSIHHBI Mal'HHUT, CO3/1aJIh
JOIOJHUTEILHYIO MATHUTHYIO CHIY BEJIHYIIHON

mg, Haupasjiennyio suu3. Ipu arom nepuos

. . T
Kosebanuit craa To. Haitnnre orHOIMEHNE T
2

A)2 B)1 C)0o D)4

K upyxune xkécrkocrsio 150 H /M, usnauaibmo
CBODOJTHYI0, TIOJIBECIJIN H OTIYCTHIN I'PY3 Maccoh
1,5 kr. Kakosa ckopocTsb (M/c) rpy3a B MOMEHT,
Korya gedhopMarisa TPYKAHBI PABHA HYJTIO!

A)10 B)20 C)30 D)o

B nmkueit yacTu cocyia uMeeTcst OTBEPCTHE
mwiomapio 4 mv?. Haiimure ckopocts (M/c)
BbITCKaAHUA XKHUJIKOCTH U3 OTBEPCTHUA, €CJIN BbICOTaA
cronba KHUIKOCTH HaJ OTBEPCTHEM 5 CM.

A)2 B)L7 Q)1 D)314

CpenexBaipaTHiHas CKOPOCTL ATOMOB
weasibHoro raza 500 M/c. B nexoropom mpornecce
JlaBJIeHHe I'a3a BO3poc/o B 1,2 pasa, a IJIOTHOCTD
yMenbmmiack B 1,2 paza. Kakoit crama
CpeJIHeKBAIPATHIHAS. CKOPOCTh (M/C) ATOMOB
raza’

A) 600 B)500 C)200 D) 120

o nopmmem, KOTopbIi cMer@aercs cBoboIHO,
nMeeTcsT UIeadbHbIH ra3 Temmeparypoit 273 K. Ha
ckosibKO (°C) u3aMeHHIACH TeMIlepaTypa rasa upu
JIBUZKEHIH TIOPIIHH, eCTH 00bEM ra3a BO3pOoC Ha
20%7

A) 546 B)80 C)84 D)686



42.

43.

44.

45.

46.

47.

48.

49.

Oueprust cesa3n mosekya LiF papna 4,3 3B, Yemy
paBna nosHast sneprus (k) cBs3u ofHOrO MOJIsI
razoobpasznoro LiF'? Yucno Papajes

96500 Ku1/moutb.

A) 619 B) 826 C)415 D) 206.5

Cremnenb ¢BOOOILI MHOTOATOMHOIO rasa i = 6.
Haiinre MOMsSpHYIO TEMIOEMKOCTE 9TOTO Tasa MpH
[IOCTOSTHHOM OO'bEME.

A)15R B)4R C)R D)3R

OmuH MeTaTINYIeCcKHil apuKk mMeeT 3
M30LITOYHLIX 9JIEKTPOHA, BTOPOIl TAKOIT »Ke HMIapHK
- 4 n3OBITOYHBIX JIEKTPOHA, CHJIA B3aHMO/IeHCTBHS
mapukoB pasHa Fi. [llapuxu npusenn B
COTIPUKOCHOBEHNE M OTBEN Ha TIpesKHee
paccTosiiue, TPH HTOM CHJIa B3aUMOJEHCTBUS
crana Iy, Haiimure ornomenne F/Fs.

A)1 B)48/7 C)48/49 D)3

Toueunnie 3apsiap! 4q, 2¢ 1 3¢ 3aKpeIIEHBI IO
PSIMOM JTHHUH, TPUTIEM PACCTOSTHIE MEXKITY
coceTHUMU 3apsiiamu a. KakoBa craner CKOpoCTh
zapsJi 3¢ Maccoil m, ecjim ero ocBODOJANTL?

A) sy 25 By gy | 25 ) g8
ma ma ma
D) 2¢, | 2%
ma

5 ucrounnkos Toka ¢ 9J1C e=5 B u BuyTpenHnM
COIIPOTHUBJIEHUEM 7'14 OM KaxJ/lasd CcOeJMHEeHbI
1I0CJIEI0BATEIbHO B 3aMKHYTVIO 1elb. Haiignre
cuiy Toka (A) B 1enn.

AYo B)1,25 C)6 D)225

Kakast uz cienyromnmx ¢popMyJ/l Olpeaesisier CUiy
HOCTOSHHOTO TOKA B POBOHUKE?

A)evS B)neS C)nev D)nevS

7 ucrounukos Toka ¢ DJIC £=3,5 B u BHyTpeHHUM
conporusienneM r=1,4 OM KaxK1asi COeJHHEHbI B
napasuiensayio barapeo. Korga k 6atapee
[OJICOEIUHUIA PE3UCTOP € COIPOTHBIeHHeM R

(R > r), nojiy4nin mojie3nyto MomHocTs 3,3 Br.
Yemy papna cuiia Toka (A) B menn?

A)5 B)2 Q)1 D)34

DJIEKTPOJIIZOM MEITHOINO KyTOpoca MOy Tal0T CJIOi
mean rosmiaoi d. Haiijinre BepHoe BhIpazkenue,
onpe/iesisiomiee 3Ty TomuHy. B dopmynax: k -
ICKTPOXUMHUIECKNI 9KBUBAJIECHT MEIH, § -
IJIOTHOCTH TOKA, p - IIOTHOCTL Meu, At - Bpemst
JICKTPOJIN34.

A) kjAt/p  B) kj/Atp Q) kp/iAt

D) kpAt/j

50.

51.

52.

53.

54.

S5.

56.

B O,H,HOpO,JlHOM MarHUTHOM I10J1€ 110 IIpOBO,[['HI/IKy
TedeT MOCTOSHHBIN 3IeKTprdecKuii Tok. Korma
YIOJI MeXKJY BEKTOPOM MHIYKIIUH MAarHUTHOTO

1r
[I0JIsI U HAIIPABJIEHHEM TOKA PABHA (v = & TO Ha
npoBogHuK Aeficreyer cuia Fy. Korna yrou

T
TIOMEHSJICH JI0 & = 3 Ha IPOBOIHHUK CTAJa

neficroBarh cuita Fo. Haifimure orHOIICHHE
Fy/Fy.

A)2 B)I141 C)1,73 D) 058

BeKTOp HAIPSIKEHHOCTH 9/IEKTPHIECKOro 1oust E
1 BEKTOD MarduTHOMN HUHAYKIITUN g
JIEKTPOMArHUTHONR BOJIHBI IEPITEeH UK YISAPHBI
apyr apyry. Kakoit yroi obpasyer
HATIPSIZKEHHOCTD IEKTPITECKoro moust F ¢
HallpaBJ/JIECHUECM paCIIpoCTpaHeHWnd BOJIHI)I?

A)r/2 B)rx/4 C)n/6 D)r/8

B karymke nnjykruaocrsio 0,6 I'n cusa Toka 3a
0,3 ¢ pasHOMepHO BO3pacTaer o1 [1=3 A j0 Is,
upu TtoM obpaszyercsa IJC camonnaykuuu 6 B.
Ha ckonbko (k) usmensiercst upu 3ToM SHEprus
MArHUTHOT'O TI0/Is B KaTyIke?

A)85 B)S8&1 C)085 D)7.5

Kak m3menuiach mioTHOCTh TeIa, €C/in ero 00bEM
pu OOJIBINONH CKOPOCTH YMEHBITHICH B 2 pa3a?

A) Bospocia B 2 pasa
B) ymenbmmiace B 4 pasa

C) Bospocia B 4 paza

D) vmenbmmnnacs B 2 pasa

Kaxne siBieHIsT MOYKHO OOBSICHUTH
KOPITYCKYJISIDHOI Teopueii cBeTa: MOJIspPU3AIHIo
ceera (1), Buyrpennuii doroahdekr (2), Brentuuii
dboroapdexr (3), nucnepento ceera (4)?

A)1,2,34 B)1,4 C)23 D)1,2

V4eHnK BUANT JEPEBO, KOTOPOE HAXOAUTCS Ha
paccrosinun 36 M OT Hero, 1moj, yrioM 2, 5° KakoBa
BeICOTA (M) 3TOrO Jlepesa’ sina ~ «

A) 1,57 B) 4,03 C)321 D) 201

Kakoga sneprusi (3B) dorona, uzinygaemoro mnpu
[IEPEXO/IE AJIEKTPOHA W3 YETBEPTOrO yPOBHS aTOMa
BOJIOPOJIa Ha TePBbIiT DHEPTUs 3JEKTPOHA HA
[IEPBOM H YETBEPTOM YPOBHSX paBHA
coorBercrBenno -13,6 3B u -0,85 3B.

A)-12,75 B) 12,75 C) 10,3 D) -10,3



57.

58.

59.

60.

61.

62.

63.

64.

MoHoxpomarudeckoe H3/ydeHue, 1aJjas Ha
BEIIECTBO, HHIYIUPYET (DOTOIIEKTPOHDL ¢
MaKCHUMAaJIbHOM KuHeTndeckoii sueprueit 0,9 sB.
Kakoit craner MakcnMaabHast KHHETHYECKAS
sueprus (/1x) dorosnekrponos, ecin omnu
HPOHJIYT YYaCTOK IYTH IIOJ AeHCTBAEM
TopMoO3HOro Hanpszkenune 0,3 B?

A)19-107% B)10~¥ C)3.107%

D) 4.3-10717

Yemy paBHO OTHOIIEHNE YHCTA TEKTPOHOB K
THCTY HEHTPOHOB B HEHTPAJILIOM aToMe g%SU?

A) 48/73 B)46/73 C) 69/45 D) 44/48

PamnoakTneHoCTh nipenapaTta 80 aTOMOE B
CeKyH]Ly, BpeMs Ku3nu 215 jer. ¥ BTOpOro
npenapara, ¢ BpemennuM ku3nu 400 er, 3a
0,4 munyTH pacnagaiorcs 960 aromor. Bo
CKOJIBKO pa3 OTJIMYarnTCd aKTHUBHOCTH 9THX
Lpenaparos’

A)1,7 B)2 (C)314 D)3

CreprkeHb PacTATHBACTCS IO TefCTBHEM
MexaHn1eckoro Hanpskenns E/10, rae E -
Moyib FOnra creprxus. Bo ckoJibKo pas npu
TOM YBEJIUYHJIACH JIJIHHA CTEPIKHS, eC/IH
pacTsizkeHne ynpyroe?

A)1,1 B)1,21 C)2 D) 169
AHTJTUACKHU SA3BIK
Choose the best answer.

Ann is ... on the grass in the park right now.
A) laying B)lain C) lying D) setting

Choose the best answer

He speaks English well ...he has never been to
England.

A) although B)so C)even D)as

Choose the best answer

You should have taken a taxi or you ...me for a
lift.

A) could phone  B) need have phoned C) are
supposed to phone D) could have phoned

Choose the best answer
I seldom stay at the hotel when I go abroad and

A) so does she
C) neither does she

B) nor she does
D) she does, too

65.

66.

67.

68.

69.

70.

71.

72.

73.

Choose the best answer
Let’s walk round the garden. We have ...time.
A) little B)afew C)alittle D) few

Choose the best answer
The editor had the contributors ... a composition

workshop.
A) attend  B) attended
C) to attend D) attending

Choose the best answer

Though we don’t look forward to it, I like . . . to
the dentist every six months for a check up.

A) going B)goes C)togo D) having gone

Choose the best answer
Carter was ...to his girlfriend and would not date
anyone else.

A) loyality  B) loyally C) loyality D) loyal
Choose the best answer

“Who threw a piece of chalk out the window?”-
The teacher told us.

The teacher asked us ....a piece of chalk out the
window.

A) who did throw
C) who had we thrown

B) who threw
D) who had thrown

Choose the best answer

There is a place on the form .......... we are
supposed to write comments in, but they haven't
left enough room for us to write much at all.
A)why B)what C)which D) where

Choose the right answer

One of the factors wichare involved in this
matter ... unemployment.

A)is B)are C)have been D) were

Choose the right answer.

Strictly ..., he is not qualified for the job.
A) spoken  B) having been spoken

C) speaking D) being spoken

Choose the best answer

Mike wished that the editors ... him to copy
some of their material.

A) had permitted B) would permit

C) could permit D) would have permit



74.

75.

76.

77.

78.

Choose the best answer

Anntooka......... course to improve her
knowledge of Spanish before she went travelling
around South and Central America.

A) a two-week B) two-weeks

C) two week’s D) two-week

Choose the best answer

My family is large. ... composed of nine
members.

A)Itis B)Theyare C)ltsis D)It’sis
Choose the best answer

...cup is a small container used for liquids.
A)A B) _ C)The D)An

Choose the best answer.

- Nobody had helped anybody on the farm.
-Oh, ........... ?
A) Had they

C) Hadn''t they

B) Didn’t they
D) Did they

Choose the best answer.

He works long hours, ...the detriment of his
health.

A)by B)with C)to D)above

Read the text. Then choose the right answer.

79.

Several British papers are printed on recycled
paper, and salvaged paper has long been used for
making cardboard boxes. The technology
involved in this is fairly simple, but some
interesting new processes have been developed
recently. Paper can be eaten; it is softened and
sweetened in a special machine and than fed to
cows. In fact, it has been found that cows fed on
cardboard boxes give particularly creamy milk.
Unfortunately the human stomach differs from a
cow’s so it seems unlikely that we shall ever be
able to read the Times at breakfast one day and
eat it for breakfast the next day, but stranger
things are possible.

In England, the paper that several newspapers
use ...

A) is simple and interesting process

B) is taken from the cows' boxes

C) can be eaten at breakfast.

D) is made of used and thrown out paper

80.

81.

82.

It is impossible for human to eat paper because

A) we should first read the newspaper
B) not all of us like the taste of paper
C) our stomach is not like the cows’
D) cows don't let us do that

Milk obtained from cows eating processed paper

A) is better quality B) smells cardboard boxes
C) tastes sweet D) is softer

Choose the best title for the passage.
A) Recycling  B) Recycled paper

C) Paper D) The human stomach

Read the text. Then choose the right answer.

83.

84.

Luckily I don’t live in Bath but nearly ten
miles away in a village called Limpley Stroke in
the Avon Valley. It seems to be normal in the
countryside these days for professional people
who work in the town to prefer to live in the
villages; this makes the housing so expensive
that the villagers and agricultural workers have
to live in the cheaper accommodation in town,
with the result that the farmers commute out to
the farm and everyone else commutes in.
Certainly there is no one in the village who could
be called an old style villager. The people
nearest to me include a pilot, an accountant, a
British Rail manager, a retired. French teacher...
not a farm worker among them. But 1 don’t
think there is anything wrong with that - it is just
that the nature of villages is changing and there
is still quite a strong sense of community here.

Despite the change in the basic quality of the
villages, the writer thinks that ...

A) it is a good place for farm workers to make
money

B) living there is not enjoyable

C) there should also be a farm worker among
them

D) people still share the common values and
have close ties

The people who live in the village
A) tend to work on the farms



86.

B) are mostly professionals who work in the
town

C) are unable to afford houses in the town
D) don't like the old-style villagers

Housing is expensive because of ...

A) its being old style

B) the professionals working in the village

C) those with professions preferring to live in the
villages

D) the shortage of housing in the town

Choose the best title for the passage.
A) The villagers B) Countryside
C) Agricultural workers D) Old-style villagers

Read the text. Then choose the right answer.

87.

88.

89.

So far all attempts to relate the bird’s
navigational ability to electric forces and
magnetic activity have failed. Magnets, and
minute radio transmitters, attached to the bird’s
body, do not interrupt or influence migration.
Radar beams bombarding the bird invisibly have
no known effect. Rotation of migrants in covered
cages during transport by car or plane does not
confuse them on release. One look at the
celestial clues, their sky compass, and. the really
expert long-distance birds are away in the correct
direction. Birds are not proved to carry a
magnetic compass.

The main topic of the passage is ....

A) the navigational ability of birds throughout
the ages.

B) how electric forces and magnets do not affect
a bird's orientation.

C) the bombardment of radar beams

D) the way the birds look at the celestial clues

Choose the closest meaning of underlined word
from the passage.

A) small B) large

C) suitable D) extremely big

The assumptions about birds' navigational ability
have failed because ...

A) radar beams affected the rotation of
migrants.

B) they can only be confused if they are kept in a

car or plane.

90.

C) they are not affected by outside influence in
finding their way

D) covered cages are not used for the rotation of
migrants.

According to the passage, the magnets placed on
birds ...

A) interrupt- the migration of birds.

B) act as a compass.

C) have no effect at all.

D) act as transmitters.















IIpaBubHbIEC OTBETHI

Mamemamuka (c

DOHU3UKA Anenuiickuit a3vik
Hughopmamuxa)
1 B 31 A 61 C
2 A 32 B 62 A
3 C 33 D 63 D
4 C 34 A 64 C
5 D 35 C 65 C
6 C 36 C 66 A
7 A 37 B 67 A
8 B 38 D 68 D
9 B 39 C 69 D
10 A 40 A 70 C
11 A 41 A 71 A
12 D 42 C 72 C
13 C 43 D 73 A
14 C 44 A 74 D
15 A 45 D 75 A
16 C 46 B 76 A
17 A 47 D 77 C
18 A 48 C 78 C
19 B 49 A 79 D
20 B 50 C 80 C
21 C 51 A 81 A
22 B 52 B 82 A
23 C 53 C 83 D
24 A 54 C 84 B
25 A 55 A 85 C
26 C 56 B 86 B
27 A 57 B 87 A
28 C 58 B 88 A
29 C 59 B 89 C
30 A 60 A 90 C




